



---

**SOME PROPERTIES ON A CLASS OF  $p$ -VALENT FUNCTIONS INVOLVING  
GENERALIZED DIFFERENTIAL OPERATOR**

ABDELJABBAR TALAL YOUSEF<sup>1</sup>, ZABIDIN SALLEH<sup>2,\*</sup> AND TARIQ AL-HAWARY<sup>3</sup>

*Received 3 April, 2020; accepted 27 December, 2020; published 12 February, 2021.*

<sup>1,2</sup>DEPARTMENT OF MATHEMATICS, FACULTY OF OCEAN ENGINEERING TECHNOLOGY AND INFORMATICS,  
UNIVERSITI MALAYSIA TERENGGANU, 21030 KUALA NERUS, TERENGGANU, MALAYSIA.  
abduljabaryousef@gmail.com<sup>1</sup>, zabidin@umt.edu.my<sup>2</sup>

<sup>3</sup>DEPARTMENT OF APPLIED SCIENCE, AJLOUN COLLEGE, AL-BALQA APPLIED UNIVERSITY, AJLOUN  
26816, JORDAN.  
tariq\_amh@yahoo.com<sup>3</sup>

**ABSTRACT.** This paper aiming to introduce a new differential operator  $T_{w,p,\alpha,\beta,\lambda,\delta}^m$  in the open unit disc  $U = \{z \in \mathbb{C} : |z| < 1\}$ . We then, introduce a new subclass of analytic function  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ . Moreover, we discuss coefficient estimates, growth and distortion theorems, and inclusion properties for the functions belonging to the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ .

*Key words and phrases:* Analytic functions;  $p$ -valent functions; Generalized differential operator.

*2010 Mathematics Subject Classification.* Primary 30C45, 30C50.

## 1. INTRODUCTION

Let  $A(p)$  denote the class of function  $f$  of the form:

$$(1.1) \quad f(z) = (z - w)^p + \sum_{n=p+1}^{\infty} a_n (z - w)^n,$$

which are analytic and normalized in the open unit disk  $U = \{z \in \mathbb{C} : |z| < 1\}$ . For a function  $f$  in  $A(p)$ , we defined the following differential operator

$$(1.2) \quad T_{w,p}^0 f(z) = f(z),$$

$$(1.3)$$

$$T_{w,p,\alpha,\beta,\lambda,\delta}^1 f(z) = (1 - p(p-1)\delta - p\beta(\lambda - \alpha))f(z) + \beta(\lambda - \alpha)(z - w)f'(z) + \delta(z - w)^2 f''(z),$$

and for  $n = 1, 2, 3, \dots$ ,

$$(1.4) \quad \begin{aligned} T_{w,p,\alpha,\beta,\lambda,\delta}^2 f(z) &= (1 - p(p-1)\delta - p\beta(\lambda - \alpha))(T_p^1 f(z)) \\ &+ \beta(\lambda - \alpha)(z - w)(T_p^1 f(z))' + \delta(z - w)^2 (T_p^1 f(z))''. \end{aligned}$$

If  $f$  is given by (1.1) we get:

$$T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z) = (z - w)^p + \sum_{n=p+1}^{\infty} [1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m (z - w)^n,$$

$$(1.5) \quad (\alpha > 0, \beta, \mu, \lambda \geq 0, p \in \mathbb{N} \text{ and } n \in \mathbb{N}_0),$$

where  $f \in A(p)$ ,  $p \in \mathbb{N}$  and  $n \in \mathbb{N}_0$ . This generalizes many operators as follows:

(i) When  $p = 1$ , we get  $T_{w,\alpha,\beta,\lambda}^m f(z) = (z - w) + \sum_{n=2}^{\infty} [1 + (n-1)\beta(\lambda - \alpha) + n\delta]^m a_n (z - w)^n$ , (see Al-Hawary et al. [2]).

(ii) When  $p = 1$  and  $w = \delta = 0$ , we get  $T_{\alpha,\beta,\lambda}^m f(z) = z + \sum_{n=2}^{\infty} [1 + (n-1)\beta(\lambda - \alpha)]^m a_n z^n$ , (see Darus and Ibrahim [7]).

(iii) When  $w = \alpha = \delta = 0$  and  $\beta = 1$ , we get  $T_{\lambda}^m = (z - w) + \sum_{n=2}^{\infty} [1 + (n-1)\lambda]^m a_n (z - w)^n$ , (see Al-Oboud [3]).

(iv) When  $\alpha = \delta = 0$  and  $\lambda = \beta = 1$ , we get  $T^m f(z) = (z - w) + \sum_{n=2}^{\infty} n^m a_n (z - w)^n$ , (see Acu and Owa [1]).

(vi) When  $w = \alpha = \delta = 0$  and  $\lambda = \beta = 1$ , we get  $T^m f(z) = z + \sum_{n=2}^{\infty} n^m a_n z^n$ , (see Salagean [10]).

Let  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$  denote the subclass of  $A(p)$  consisting of function  $f$  which satisfy

$$(1.6) \quad \operatorname{Re} \left\{ 1 + \frac{1}{b} \left[ p(1 - \mu) \frac{T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)}{z - w} + \mu (T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z))' - p(z - w)^{p-1} \right] \right\} > 0$$

where  $T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)$  is given by (1.5). This satisfies the following inequality

$$(1.7) \quad \left| \frac{p(1 - \mu) \frac{T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)}{z - w} + \mu (T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z))' - p(z - w)^{p-1}}{p(1 - \mu) \frac{T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)}{z - w} + \mu (T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z))' + 2b - p(z - w)^{p-1}} \right| < 1.$$

where  $z \in U$ ,  $\mu \geq 0$ ,  $p \in \mathbb{N}$ ,  $n \in \mathbb{N}_0$ ,  $b \in \mathbb{C} - \{0\}$ .

We note that

- $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, 1) = G(\mu, \lambda, \alpha, \beta, b)$   
 $= \{f \in A(p) : \operatorname{Re}\{1 + \frac{1}{b}[(1 - \mu)\frac{Tf(z)}{z-w} + \mu(T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z))' - 1]\} > 0, z \in U\}.$
- $G_0^w(\mu, \lambda, \alpha, \beta, \delta, b, 1) = G(\lambda, b)$   
 $= \{f \in A(p) : \operatorname{Re}\{1 + \frac{1}{b}[(1 - \mu)\frac{f(z)}{z-w} + \mu(f(z))' - 1]\} > 0, z \in U\}.$
- $G_m^0(1, 1, 1, 0, 1, b, 1) = R_m(b) = \{f \in A(p) : \operatorname{Re}\{1 + \frac{1}{b}[(T^m f(z))' - 1]\} > 0, z \in U\}.$
- $G_m^w(0, 1, 1, 0, 1, b, 1) = G_m(b) = \{f \in A(p) : \operatorname{Re}\{1 + \frac{1}{b}[\frac{T^m f(z)}{z-w} - 1]\} > 0, z \in U\}.$
- $G_0^w(0, 1, 1, 0, 1, b, 1) = G(b) = \{f \in A(p) : \operatorname{Re}\{1 + \frac{1}{b}[\frac{f(z)}{z-w} - 1]\} > 0, z \in U\}.$
- $G_0^0(0, 1, 1, 0, 1 - \alpha, 1, 1) = G_\alpha = \{f \in A(p) : \operatorname{Re}\frac{f(z)}{z-w} > \alpha, 0 \leq \alpha < 1, z \in U\}.$
- $G_0^0(0, 1, 1, 0, 1 - \alpha, 1, 1) = R_\alpha = \{f \in A(p) : \operatorname{Re}(f(z))' > \alpha, 0 \leq \alpha < 1, z \in U\}.$

For more details see [4, 5, 6, 8, 9]. Recently Yousef and Salleh [11] investigated a subclass of complex-valued harmonic univalent functions defined by a generalized linear operator, and some properties such as coefficient bounds of this class are obtained. In this paper, coefficient inequalities, distortion theorem, and closure theorems of functions belonging to the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$  are obtained.

## 2. COEFFICIENT INEQUALITIES

In this section we find the coefficient inequality for the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ .

**Theorem 2.1.** *The function  $f(z)$  defined by (1.1) satisfies the condition*

$$(2.1) \quad \sum_{n=p+1}^{\infty} [p + \mu(n - p)][1 + \delta(n(n - 1) - p(p - 1)) + (n - p)(\lambda - \alpha)\beta]^m |a_n| \leq |b|$$

where  $\mu \geq 0, p \in \mathbb{N}, n \in \mathbb{N}_0, \alpha > 0$  and  $\beta + \lambda > 0$  if and only if  $f(z) \in G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ . The result (2.1) is sharp for functions of the form:

$$f(z) = (z - w) + \frac{|b|}{[p + \mu(n - p)][1 + \delta(n(n - 1) - p(p - 1)) + (n - p)(\lambda - \alpha)\beta]^m} (z - w)^n$$

$(n \geq p + 1; m \in \mathbb{N}_0).$

*Proof.* Suppose that the inequality (2.1) holds. Then we have for  $z \in U$  and  $|z| < 1$

$$\begin{aligned}
& \left| p(1-\mu) \frac{T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)}{z-w} + \mu(T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z))' - p(z-w)^{p-1} \right| \\
& - \left| p(1-\mu) \frac{T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)}{z-w} + \mu(T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z))' - p(z-w)^{p-1} + 2b \right| \\
& = \left| \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m \right| \\
& |a_n| |(z-w)^{n-1}| \\
& - \left| 2b + \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m \right| \\
& |a_n| |(z-w)^{n-1}| \\
& \leq \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m \\
& |a_n| |(z-w)^{n-1}| \\
& - 2|b| - \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m \\
& |a_n| |(z-w)^{n-1}| \\
& \leq \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| - |b| \\
& \leq 0
\end{aligned}$$

where  $T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)$  is given by (1.5). This implies

$$\sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| \leq |b|,$$

which shows that  $f \in G_m^w(\mu, \lambda, \alpha, \beta, b, p)$ . For the converse, assume that

$$(2.2) \quad \left| \frac{p(1-\mu) \frac{T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)}{z-w} + \mu(T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z))' - p(z-w)^{p-1}}{p(1-\mu) \frac{T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)}{z-w} + \mu(T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z))' + 2b - p(z-w)^{p-1}} \right| < 1.$$

This implies

$$\left| \frac{P}{Q} \right| < 1$$

where

$$P = \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m a_n (z-w)^{n-1}$$

and

$$Q = 2b + \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m a_n (z-w)^{n-1}.$$

Since  $\operatorname{Re}(z - w) \leq |z - w|$  for all  $(z - w)$ , it follows from (2.2) that

$$\operatorname{Re} \left( \frac{R}{S} \right) < 1$$

where

$$R = \sum_{n=p+1}^{\infty} [p + \mu(n - p)][1 + \delta(n(n - 1) - p(p - 1)) + (n - p)(\lambda - \alpha)\beta]^m |a_n| (z - w)^{n-1}$$

and

$$S = 2b + \sum_{n=p+1}^{\infty} [p + \mu(n - p)][1 + \delta(n(n - 1) - p(p - 1)) + (n - p)(\lambda - \alpha)\beta]^m |a_n| (z - w)^{n-1}.$$

Choose values of  $(z - w)$  on the real axis, and let  $|z - w| \rightarrow 1^-$  through the real values, we obtain

$$\begin{aligned} & \sum_{n=p+1}^{\infty} [p + \mu(n - p)][1 + \delta(n(n - 1) - p(p - 1)) + (n - p)(\lambda - \alpha)\beta]^m |a_n| \\ & \leq 2b + \sum_{n=p+1}^{\infty} [p + \mu(n - p)][1 + \delta(n(n - 1) - p(p - 1)) + (n - p)(\lambda - \alpha)\beta]^m |a_n|. \end{aligned}$$

This gives the required condition given by (2.1). ■

**Corollary 2.2.** *Let the function  $f$  defined by (1.1) be in the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ , then we have*

$$|a_n| \leq \frac{|b|}{[p + \mu(n - p)][1 + \delta(n(n - 1) - p(p - 1)) + (n - p)(\lambda - \alpha)\beta]^m}, n \geq p + 1.$$

### 3. GROWTH AND DISTORTION THEOREMS

A growth and distortion property for function  $f$  to be in the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$  is given as follows:

**Theorem 3.1.** *If the function  $f(z)$  be defined by (1.1) is in the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ . Then for  $|z - w| = r < 1$ , we have*

$$\begin{aligned} & |r^p| - \frac{|b| |r|^n}{(p + \mu) [1 + 2p\delta + \beta(\lambda - \alpha)]^m} \leq |f(z)| \\ & \leq |r^p| + \frac{|b| |r|^n}{(p + \mu) [1 + 2p\delta + \beta(\lambda - \alpha)]^m} \end{aligned}$$

and

$$\begin{aligned} & pr^{p-1} - r^p \frac{(p + 1) |b|}{(p + \mu) [1 + 2p\delta + \beta(\lambda - \alpha)]^m} \leq |f'(z)| \\ & \leq pr^{p-1} + r^p \frac{(p + 1) |b|}{(p + \mu) [1 + 2p\delta + \beta(\lambda - \alpha)]^m}. \end{aligned}$$

*Proof.* Let  $f \in G_m(\mu, \lambda, \alpha, \beta, \delta, b, p)$ , then by (2.1) we have

$$\sum_{n=p+1}^{\infty} [p + \mu(n - p)][1 + \delta(n(n - 1) - p(p - 1)) + (n - p)(\lambda - \alpha)\beta]^m |a_n| \leq |b|.$$

By substituting  $n = p + 1$ , we obtain

$$\sum_{n=p+1}^{\infty} [p + \mu][1 + \delta((p + 1)p - p(p - 1)) + (\lambda - \alpha)\beta]^m |a_n| \leq |b|.$$

This implies

$$\sum_{n=p+1}^{\infty} |a_n| \leq \frac{|b|}{(p + \mu)[1 + 2p\delta + \beta(\lambda - \alpha)]^m}.$$

From equation (1.1) we have

$$\begin{aligned} |f(z)| &\leq |z - w|^p + \sum_{n=p+1}^{\infty} |a_n| |z - w|^n \\ &\leq r^p + \frac{|b|}{(p + \mu)[1 + 2p\delta + \beta(\lambda - \alpha)]^m} r^n. \end{aligned}$$

Similarly we can prove that

$$|f(z)| \geq r^p - \frac{|b|}{(p + \mu)[1 + 2p\delta + \beta(\lambda - \alpha)]^m} r^n.$$

Also

$$\begin{aligned} |f'(z)| &= \left| p(z - w)^{p-1} + \sum_{n=p+1}^{\infty} n a_n (z - w)^{n-1} \right| \\ &\leq p|z - w|^{p-1} + \sum_{n=p+1}^{\infty} n |a_n| |z - w|^{n-1} \leq pr^{p-1} + r^p \sum_{n=p+1}^{\infty} n |a_n| \\ &\leq pr^{p-1} + r^p \frac{(p + 1) |b|}{(p + \mu)[1 + 2p\delta + \beta(\lambda - \alpha)]^m}. \end{aligned}$$

Similarly we can prove that

$$|f'(z)| \geq pr^{p-1} - r^p \frac{(p + 1) |b|}{(p + \mu)[1 + 2p\delta + \beta(\lambda - \alpha)]^m}.$$

■

#### 4. INCLUSION PROPERTIES

The inclusion properties for the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$  are given by the following theorem.

**Theorem 4.1.** *Let the hypothesis of (2.1) be satisfied. Then*

$$\begin{aligned} G_m^w(\mu_2, \lambda, \alpha, \beta, \delta, b, p) &\subseteq G_m^w(\mu_1, \lambda, \alpha, \beta, \delta, b, p) \\ G_m^w(\mu, \lambda_2, \alpha, \beta, \delta, b, p) &\subseteq G_m^w(\mu, \lambda_1, \alpha, \beta, \delta, b, p) \\ G_m^w(\mu, \lambda, \alpha_2, \beta, \delta, b, p) &\subseteq G_m^w(\mu, \lambda, \alpha_1, \beta, \delta, b, p) \\ G_m^w(\mu, \lambda, \alpha, \beta_2, \delta, b, p) &\subseteq G_m^w(\mu, \lambda, \alpha, \beta_1, \delta, b, p) \\ G_m^w(\mu, \lambda, \alpha, \beta, \delta_2, b, p) &\subseteq G_m^w(\mu, \lambda, \alpha, \beta, \delta_1, b, p) \end{aligned}$$

where  $\alpha_2 \geq \alpha_1, \beta_2 \geq \beta_1, \lambda_2 \geq \lambda_1, \mu_2 \geq \mu_1$  and  $\delta_2 \geq \delta_1$ .

*Proof.* Let  $f \in G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ . Then by using (2.1) we have

$$\sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| \leq |b|.$$

If  $\mu_2 \geq \mu_1$ , then  $p + \mu_2(n-p) \geq p + \mu_1(n-p)$  such that

$$\begin{aligned} & \sum_{n=p+1}^{\infty} [p + \mu_2(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| \\ & \geq \sum_{n=p+1}^{\infty} [p + \mu_1(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n|. \end{aligned}$$

This shows that

$$\begin{aligned} & \sum_{n=p+1}^{\infty} [p + \mu_1(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| \\ & \leq \sum_{n=p+1}^{\infty} [p + \mu_2(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| \leq |b| \end{aligned}$$

or

$$\sum_{n=p+1}^{\infty} [p + \mu_1(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| \leq |b|.$$

Hence  $f \in G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ , which shows that

$$G_m^w(\mu_2, \lambda, \alpha, \beta, \delta, b, p) \subseteq G_m^w(\mu_1, \lambda, \alpha, \beta, \delta, b, p).$$

Similarly, let  $f \in G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ , then by using (2.1) we have  $\delta_2 \geq \delta_1$ . This implies that

$$\begin{aligned} & [1 + \delta_2(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)]^m \\ & \geq [1 + \delta_1(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)]^m, \end{aligned}$$

so

$$\begin{aligned} & \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta_2(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| \\ & \geq \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta_1(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| \end{aligned}$$

and hence

$$\sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta_1(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)\beta]^m |a_n| \leq |b|.$$

This proves that  $f \in G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$  and finally implies that

$$G_m^w(\mu, \lambda, \alpha, \beta, \delta_2, b, p) \subseteq G_m^w(\mu, \lambda, \alpha, \beta, \delta_1, b, p).$$

Employing a similar procedure we can prove that

$$\begin{aligned} G_m^w(\mu, \lambda_2, \alpha, \beta, \delta, b, p) & \subseteq G_m^w(\mu, \lambda_1, \alpha, \beta, \delta, b, p), \\ G_m^w(\mu, \lambda, \alpha_2, \beta, \delta, b, p) & \subseteq G_m^w(\mu, \lambda, \alpha_1, \beta, \delta, b, p) \end{aligned}$$

and

$$G_m^w(\mu, \lambda, \alpha, \beta_2, \delta, b, p) \subseteq G_m^w(\mu, \lambda, \alpha, \beta_1, \delta, b, p).$$

■

## 5. INTEGRAL OPERATORS

In this section, we consider integral transforms of functions in the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ .

**Theorem 5.1.** *If the function  $f(z)$  given by (1.1) is in the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ , and let  $c$  be a real number such that  $c > -p$ , then the function  $I(z)$  defined by*

$$(5.1) \quad I(z) = \frac{c+p}{(z-w)^c} \int_w^z (t-w)^{c-1} f(t) dt$$

also belongs to the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ .

*Proof.* From (5.1), it follows that  $I(z) = (z-w)^p + \sum_{n=p+1}^{\infty} b_n(z-w)^n$ , where  $b_n = \left(\frac{c+p}{n+c}\right) a_n$ .

Therefore

$$\begin{aligned} & \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)]^m b_n \\ &= \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)]^m \left(\frac{c+p}{n+c}\right) a_n \\ &\leq \sum_{n=p+1}^{\infty} [p + \mu(n-p)][1 + \delta(n(n-1) - p(p-1)) + (n-p)(\lambda - \alpha)]^m a_n \\ &\leq |b|, \end{aligned}$$

since  $f(z) \in G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ . Hence by Theorem 2.1,  $I(z) \in G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ . ■

## 6. CONCLUSION

In this work, the class of the  $p$ -valent functions  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$  is introduced embedded with the generalized differential operator  $T_{w,p,\alpha,\beta,\lambda,\delta}^m f(z)$ . In the first section, the inequality (2.1) is sharp and also the function  $f(z)$  belongs to the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$  if and only if the inequality (2.1) holds. Upon the above result, distortion theorems and inclusion properties hold. Moreover coefficient estimates and growth theorem are studied and an integral operator  $I(z)$  is introduced. Furthermore, the integral operator  $I(z)$  belongs to the class  $G_m^w(\mu, \lambda, \alpha, \beta, \delta, b, p)$ .

## REFERENCES

- [1] M. ACU and S. OWA, On a subclass of  $n$ -starlike functions, *Int. J. Math. and Math. Sci.*, **17** (2005), pp. 2841–2846. doi:10.1155/IJMMS.2005.2841.
- [2] T. AL-HAWARY, B.A. FRASIN and M. DARUS, On certain subclass of analytic functions with fixed point, *J. Appl. Math.*, vol. 2013, Article ID 312387, 8 pages, 2013. <https://doi.org/10.1155/2013/312387>.
- [3] F. M. AL-OBOUDI, On univalent functions defined by generalized Salagean operator, *Int. J. Math. Sci.*, **27** (2004), pp. 1429–1436. doi:10.1155/S0161171204108090.
- [4] M.K. AOUF, On subclasses of univalent functions with negative coefficients III, *Bull. Soc. Roy. Sci. Liege*, **56** (1987), pp. 465–473.



- [5] M. P. CHEN, On the regular functions satisfying  $\operatorname{Re}\left(\frac{f(z)}{z}\right)$ , *Bull. Ins. Math. Sci. Net. Acad. Sinica*, **3** (1975), pp. 65–70.
- [6] M.P. CHEN, On functions satisfying  $\operatorname{Re}\left(\frac{f(z)}{z}\right)$ , *Tamkang J. Math. Sci.*, **23** (1974), pp. 231–234.
- [7] M. DARUS and R. IBRAHIM, On subclasses for generalized operators of complex order, *Far East J. Math. Sci.*, **33**(3) (2009), pp. 299–308.
- [8] T. G. EZROHI, Certain estimates in special classes of univalent functions regular in the circle  $|z| < 1$ , *Dopovidi Akademiji Nauk Koji (RSR)*, (1965), pp. 984–988.
- [9] S. A. HALIM, On a class of functions of complex order, *Tamkang J. Math.*, **30** (1999), pp. 147–153.
- [10] G. S. SĂLĂGEAN, *Subclasses of univalent functions*, Lecture Notes in Math, Springer-Verlag, Heidelberg, **1013**, pp. 362–372, 1983.
- [11] A. T. YOUSEF and Z. SALLEH, On a harmonic univalent subclass of functions involving a generalized linear operator, *Axioms* (2020), 9, 32. doi:10.3390/axioms9010032.